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Scrivere	
  tu*	
  i	
  viven7	
  combinando	
  pochi	
  
simboli:	
  	
  

Il	
  codice	
  gene7co	
  
	
  
Una	
  serie	
  di	
  codoni	
  in	
  una	
  parte	
  di	
  una	
  
molecola	
  di	
  un	
  RNA	
  messaggero	
  (mRNA).	
  
	
  
Ogni	
  codone	
  consiste	
  di	
  tre	
  nucleo'di,	
  una	
  
triple4a,	
  che	
  solitamente	
  rappresenta	
  un	
  
singolo	
  aminoacido.	
  

3.8	
  miliardi	
  di	
  anni	
  fa?	
  



Un	
   codone	
   è	
   definito	
   dal	
   nucleoMde	
   iniziale	
  
da	
   cui	
   traduzione	
   inizia.	
   Ad	
   esempio,	
   la	
  
stringa	
   GGGAAACCC,	
   se	
   le[a	
   dalla	
   prima	
  
posizione,	
   conMene	
   i	
   codoni	
   GGG,	
   AAA,	
   e	
  
CCC;	
   se	
   le[a	
   dalla	
   seconda	
   posizione,	
  
conMene	
  GGA	
   e	
  AAC,	
   se	
   le[a	
   a	
   parMre	
   dalla	
  
terza	
   posizione,	
   GAA	
   e	
   ACC.	
   Ogni	
   sequenza	
  
può,	
  quindi,	
  essere	
  le[a	
  in	
  tre	
  modi,	
  ciascuno	
  
dei	
   quali	
   produrrà	
   una	
   diversa	
   sequenza	
  
amminoacidica	
   (nell'esempio	
   dato,	
   Gly-­‐Lys-­‐
Pro,	
   Gly-­‐Asn,	
   o	
   Glu-­‐Thr,	
   rispeavamente).	
   Il	
  
modo	
   reale	
   in	
   cui	
   si	
   traduce	
   una	
   sequenza	
  
proteica	
   è	
  definita	
  da	
  un	
   codone	
  di	
   inizio,	
   di	
  
solito	
  il	
  primo	
  codone	
  AUG	
  nella	
  sequenza.	
  
Esitono	
  poi	
  i	
  codoni	
  di	
  stop:	
  	
  UAA,	
  UAG,	
  UGA.	
  	
  

Notazione	
  posizionale?	
  Zero?	
  	
  





Fonte:	
  

•  Florian	
  Cajori,	
  A	
  History	
  of	
  Mathema'cal	
  Nota'ons,	
  Vol.	
  I,	
  1929	
  	
  
•  h[p://archive.org/download/historyofmathema031756mbp/

historyofmathema031756mbp.pdf	
  
•  Cosimo	
  Inc.,	
  New	
  York,	
  2007,	
  ISBN:	
  1602066841,	
  €	
  14.91.	
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Sistema	
  di	
  numerazione	
  sessagesimale	
  posizionale	
  babilonese	
  
	
  
•  Fa	
  la	
  sua	
  comparsa	
  nell’ambiente	
  colto	
  all’inizio	
  del	
  II	
  millennio	
  a.C.	
  come	
  

strumento	
  per	
  la	
  matemaMca	
  e	
  per	
  l’astronomia.	
  
•  I	
  numeri	
  da	
  1	
  a	
  59	
  sono	
  scria	
  in	
  modo	
  addiMvo	
  con	
  la	
  base	
  ausiliaria	
  10,	
  

per	
  i	
  numeri	
  superiori	
  a	
  60	
  è	
  uMlizzato	
  il	
  principio	
  di	
  posizione	
  (il	
  valore	
  del	
  
simbolo	
  dipende	
  dal	
  posto	
  che	
  occupa)	
  

Quindi:	
  
	
  
•  Base	
  60,	
  posizionale,	
  ma	
  ambiguo.	
  
•  Fa	
  la	
  sua	
  comparsa	
  il	
  “dieci”	
  (le	
  dita	
  delle	
  due	
  mani),	
  ma	
  non	
  esiste	
  il	
  

“cento”	
  o	
  il	
  “mille”,	
  nel	
  senso	
  che	
  per	
  un	
  babilonese	
  	
  

	
  	
  	
  	
  	
  	
  100	
  =	
  1	
  “sessanta”	
  +	
  “quaranta”	
  =	
  
	
  
Però	
  potrebbe	
  essere	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  1	
  “sessanta”	
  	
  	
  	
  +	
  40	
  “sessanta”	
  	
  	
  =	
  	
  6000	
  
	
  
(uno	
  spostamento	
  in	
  blocco	
  “a	
  sinistra”	
  delle	
  cifre	
  porta	
  a	
  molMplicare	
  per	
  60)	
  

2	
   1	
  



Base	
  60	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  59	
  cifre	
  	
  (manca	
  lo	
  “zero”)	
  



 Senkareh: da 12 a 602 

56	
  x	
  60	
  +	
  4	
  =	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  58	
  	
  	
  	
  	
  	
  	
  

George	
  Rawlinson,	
  The	
  five	
  great	
  
monarchies	
  of	
  the	
  ancient	
  eastern	
  world,	
  
London,	
  Murray,	
  1862,	
  
(First	
  Monarchy,	
  Chaldæa,	
  Cap.	
  5,	
  p.	
  129)	
  

Un	
  esempio:	
  la	
  tavola	
  dei	
  quadraM	
  da	
  1	
  	
  a	
  60	
  

?	
  



Probabilmente	
  la	
  “posizione”	
  era	
  affidata	
  alla	
  semanMca,	
  cioè	
  al	
  senso.	
  

Se	
  gli	
  anni	
  di	
  vita	
  di	
  un	
  nobile	
  erano	
  incisi	
  come	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ,	
  si	
  tra[ava	
  

evidentemente	
  di	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  x	
  60	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  x	
  1	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  /60	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  /3600	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  34	
  

	
  

e	
  non	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  x	
  60	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  x	
  1	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  /60	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  /3600	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  1804	
  	
  	
  





La	
  divisione	
  
	
  

La	
  divisione	
  viene	
  effe[uata	
  molMplicando	
  il	
  dividendo	
  per	
  l’inverso	
  del	
  
divisore.	
  

Le	
  frazioni	
  sessagesimali	
  sono	
  poste	
  sullo	
  stesso	
  piano	
  degli	
  interi	
  
Questo	
  è	
  notevole	
  se	
  si	
  pensa	
  che	
  i	
  numeri	
  decimali	
  cominciarono	
  a	
  
diffondersi	
  in	
  Europa	
  solo	
  alla	
  fine	
  del	
  ‘500	
  [S.	
  Stevin,	
  1585]	
  	
  
(fonte:	
  Livia	
  Giacardi)	
  



Ad	
  esempio	
  l’inverso	
  di	
  45	
  

1
45

=
1
325

=
245
243252

=
80
602

=
60+ 20
602

=
1
60

+
20
602 =	
  1,20	
  

	
  	
  	
  	
  	
  	
  	
  	
  x	
  60	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  x	
  1	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  /60	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  /3600	
  



Tavola	
  dei	
  reciproci	
  di	
  8po	
  standard	
  

1/7	
  =	
  8,34,17,	
  8,34,17,	
  8,34,17,	
  …	
  
8,34,17	
  =	
  8/60	
  +	
  34/3600	
  +	
  17/216000	
  =	
  30857/216000	
  	
  	
  	
  

1 �
1

603
�

1�603�2 � 1�603�3 � . . .

30857

216000
�
k�0

� 1

216000k
�

30857

216000

1

1 � 1
216000

�
30857

216000

216000

215999
�

1

7
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•  Un	
  numero	
  razionale	
  r	
  scri[o	
  in	
  base	
  10	
  ha	
  sviluppo	
  “limitato”	
  se	
  molMplicato	
  per	
  una	
  
potenza	
  (ad	
  esponente	
  intero)	
  di	
  10	
  dà	
  un	
  intero:	
  ad	
  esempio	
  per	
  r	
  <	
  1	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  un	
  intero	
  

•  Supponiamo	
  che	
  l’inverso	
  r	
  =	
  1/m	
  di	
  un	
  intero	
  m,	
  	
  scri[o	
  in	
  base	
  10,	
  abbia	
  sviluppo	
  
“limitato”.	
  Sia	
  ad	
  esempio	
  r	
  =	
  1/40.	
  Infaa	
  molMcando	
  per	
  103	
  =1000	
  si	
  ha	
  	
  r	
  =	
  	
  

	
  	
  	
  	
  	
  	
  	
  (1/40)	
  x	
  1000	
  =	
  25	
  (infaa	
  1/40	
  =	
  0.025)	
  Siano	
  p1	
  =	
  2	
  e	
  p2	
  =	
  5	
  	
  i	
  fa[ori	
  primi	
  di	
  10	
  =	
  p1p2	
  
•  Allora	
  abbiamo	
  un	
  intero	
  s	
  =	
  25	
  tale	
  che	
  

	
  
	
  
•  Ne	
  viene	
  che	
  m	
  =	
  40	
  =	
  23	
  51	
  .	
  	
  IpoMzzo	
  che	
  se	
  un	
  inverso	
  1/m	
  di	
  un	
  intero	
  ha	
  sviluppo	
  

“limitato”	
  in	
  base	
  B,	
  allora	
  i	
  fa[ori	
  primi	
  di	
  m	
  sono	
  fra	
  quelli	
  di	
  B.	
  	
  	
  

r = ai
i=1

n

! 10"i # r 10n = ...

1
m
103 = s! 1

40
=
25
103

=
25
2353

=
1
2351

Versione	
  breve	
  



•  Un	
  numero	
  razionale	
  r	
  scri[o	
  in	
  base	
  B	
  ha	
  sviluppo	
  “limitato”	
  se	
  molMplicato	
  per	
  una	
  
potenza	
  (ad	
  esponente	
  intero)	
  di	
  B	
  dà	
  un	
  intero:	
  ad	
  esempio	
  per	
  r	
  <	
  1	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  un	
  intero	
  

•  Supponiamo	
  che	
  l’inverso	
  r	
  =	
  1/m	
  di	
  un	
  intero	
  m,	
  	
  scri[o	
  in	
  base	
  B,	
  abbia	
  sviluppo	
  
“limitato”.	
  Siano	
  pj	
  	
  i	
  fa[ori	
  primi	
  di	
  	
  

•  Allora	
  abbiamo	
  un	
  intero	
  s	
  tale	
  che	
  

	
  
•  Se	
  s	
  è	
  divisibile	
  per	
  qualche	
  pj,	
  	
  semplifico	
  per	
  tua	
  i	
  pj	
  possibili:	
  

•  Ed	
  ho	
  che	
  i	
  fa[ori	
  primi	
  di	
  m	
  si	
  trovano	
  solo	
  fra	
  i	
  pj	
  .	
  	
  Concludo	
  che	
  se	
  un	
  inverso	
  1/m	
  di	
  
un	
  intero	
  ha	
  sviluppo	
  “limitato”	
  in	
  base	
  B,	
  allora	
  i	
  fa[ori	
  primi	
  di	
  m	
  sono	
  fra	
  quelli	
  di	
  B.	
  	
  	
  

r = ai
i=1

n

! B"i # rBn = ...

1
m
Bn = s! 1

m
=
s
Bn ! sm = Bn

B =! pj
! j

1
m
Bn = s! 1

m
=

s '
" pj

! j
! s 'm =" pj

! j

Versione	
  formale	
  



•  Viceversa:	
  sia	
  m	
  un	
  intero	
  i	
  cui	
  fa[ori	
  primi	
  di	
  sono	
  fra	
  quelli	
  di	
  
•  	
  Consideriamo	
  l’inverso	
  	
  	
  	
  	
  	
  

•  Ad	
  esempio	
  per	
  B	
  =	
  10	
  sia	
  

•  In	
  conclusione:	
  	
  Una	
  frazione	
  1/m	
  ha	
  sviluppo	
  in	
  base	
  B	
  “limitato”	
  se	
  e	
  solo	
  se	
  m	
  ha	
  
come	
  faAori	
  primi	
  solo	
  quelli	
  di	
  B.	
  	
  

•  Esempio:	
  	
  Una	
  frazione	
  1/m	
  ha	
  sviluppo	
  in	
  base	
  10	
  “limitato”	
  se	
  e	
  solo	
  se	
  i	
  fa[ori	
  primi	
  
di	
  m	
  sono	
  fra	
  i	
  numeri	
  2	
  e	
  5.	
  	
  

•  Esempio:	
  	
  Una	
  frazione	
  1/m	
  ha	
  sviluppo	
  in	
  base	
  60	
  “limitato”	
  se	
  e	
  solo	
  se	
  i	
  fa[ori	
  primi	
  
di	
  m	
  sono	
  fra	
  i	
  numeri	
  2,	
  3	
  e	
  5.	
  	
  

	
  

1
m
=

1
! pj

! j

B =! pj
! j

1
m
=
1
2357

=
24

2757
=

16
10000000

!16m =107



•  Esercizi	
  buffi	
  e	
  meno:	
  

•  1/13	
  in	
  base	
  10	
  	
  =	
  0.	
  076923	
  076923	
  076923	
  076923	
  076923	
  …	
  
•  1/13	
  in	
  base	
  	
  9	
  	
   	
  =	
  0.	
  062	
  062	
  062	
  062	
  062	
  062	
  062	
  062	
  062	
  062	
  062	
  ...	
  
•  1/7	
  in	
  base	
  36	
   	
  =	
  0.	
  5	
  5	
  5	
  5	
  5	
  5	
  5	
  5	
  5	
  5	
  5	
  5	
  5	
  5	
  ...	
  
•  1/8	
  in	
  base	
  36 	
  =	
  0.4i	
  	
  (“limitato”)	
  =	
  in	
  decimale	
  a	
  4/36+18/362	
  =	
  1/8	
  
•  1/13	
  in	
  base	
  36 	
  =	
  0.	
  2rox8b	
  2rox8b	
  2rox8b	
  2rox8b	
  2rox8b	
  …	
  

	
  
•  Le	
  cifre	
  delle	
  basi	
  maggiori	
  di	
  10	
  si	
  scrivono	
  di	
  norma	
  aggiungendo	
  in	
  ordine	
  le	
  26	
  

le[ere	
  dell’alfabeto	
  inglese,	
  per	
  cui	
  si	
  arriva	
  con	
  questo	
  metodo	
  da	
  base	
  2	
  a	
  base	
  36:	
  

•  In	
  base	
  36	
  i	
  numeri	
  da	
  0	
  a	
  36	
  (decimali!)	
  si	
  scrivono	
  

�036, 136, 236, 336, 436, 536, 636, 736, 836, 936, a36, b36,
c36, d36, e36, f36, g36, h36, i36, j36, k36, l36, m36, n36, o36,
p36, q36, r36, s36, t36, u36, v36, w36, x36, y36, z36, 1036�



Lo	
  “zero”	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nelle	
  tavole	
  astronomiche	
  babilonesi	
  (II	
  sec	
  a.C.)	
  

0	
  	
  57	
  10	
  

Però	
  più	
  che	
  un	
  numero	
  è	
  visto	
  come	
  un	
  “segno	
  di	
  separazione”:	
  	
  
(R.	
  Labat,	
  Manuel	
  d’Épigraphie	
  Akkadienne,	
  Paris,	
  1948)	
  	
  



	
  	
  	
  	
  unità	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  decine	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  cenMnaia	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  migliaia	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
Gli	
  egizi	
  

	
  
Compaiono	
  
simboli	
  per	
  
le	
  potenze	
  di	
  	
  

dieci	
  
(due	
  mani)	
  

Geroglifico	
  /	
  IeraMco	
  (sacerdotale)	
  /	
  demoMco	
  (popolare)	
  



1	
   	
   	
  Ι	
   	
  ἴος	
   	
   	
   	
  (	
  ios	
  )	
  
5	
   	
   	
  Π	
   	
  πέντε	
   	
   	
  (	
  pente	
  )	
  
10	
   	
   	
  Δ	
   	
  δέκα	
   	
   	
  (	
  deka	
  )	
  
100	
  	
   	
  Η	
   	
  hεκατόν	
  	
  	
  	
   	
  (	
  hekaton	
  )	
  
1000 	
  	
  	
  	
  	
  	
  	
  Χ	
   	
  χίλιοι	
   	
   	
  (	
  khilioi	
  )	
  
1001 	
  	
  	
  	
  	
  	
  	
  Μ	
   	
  μύριοι	
   	
   	
  (	
  myrioi	
  )	
  
	
  	
  
Sono	
  le	
  le[ere	
  iniziali	
  dei	
  nomi	
  dei	
  numeri	
  

Elio	
  Erodiano	
  il	
  GrammaMco	
  
(BizanMno,	
  ca.	
  150-­‐250)	
  
•  Compare	
  il	
  5	
  (una	
  mano)	
  
•  Bastano	
  meno	
  simboli	
  per	
  
	
  	
  	
  	
  	
  	
  i	
  numeri	
  da	
  1	
  a	
  9:	
  
	
  	
  	
  	
  	
  	
  Ι,	
  ΙΙ,	
  ΙΙΙ,	
  ΙΙΙΙ,	
  Δ,	
  ΔΙ,	
  ΔΙΙ,	
  ΔΙΙΙ,	
  ΔΙΙΙΙ	
  
•  Compaiono	
  mulMpli	
  di	
  5	
  come	
  	
  
	
  	
  	
  	
  	
  	
  “riassunM	
  grafici”:	
  	
  	
  

Cara[eri	
  anMchi	
  
pre-­‐erodiani	
  

=	
  2496	
  

=	
  1739	
  

400	
  +	
  200	
  =	
  5	
  ×	
  100	
  +	
  100,	
  	
  	
  40	
  +	
  20	
  =	
  5	
  ×	
  10	
  +	
  10	
  	
  	
  	
  	
  	
  	
  

I	
  greci	
  

=	
  πέντε	
  δέκα	
  =	
  50	
  	
  
=	
  πέντε	
  hεκατόν	
  	
  =	
  500	
  



Passaggio	
  al	
  sistema	
  puramente	
  alfabeMco	
  



Passaggio	
  al	
  sistema	
  puramente	
  alfabeMco	
  

=	
  1739	
  =	
  

•  Richiede	
  uno	
  sforzo	
  mnemonico	
  enorme	
  negli	
  “studenM”	
  
•  	
  Consuma	
  molto	
  meno	
  spazio	
  	
  
•  pietra	
  >	
  argilla	
  >	
  tavole[e	
  cerate	
  >	
  papiro	
  >	
  pergamena	
  >	
  carta	
  >	
  ?	
  	
  	
  



	
  	
  365	
  14’	
  48’’	
  =	
  365	
  +	
  1/4	
  -­‐	
  1/300	
  	
  

Valore	
  dell’anno	
  solare	
  in	
  giorni	
  in	
  Tolomeo	
  (~	
  150)	
  

sessagesimale	
  



Lo	
  zero	
  	
  	
  	
  o	
  	
  	
  	
  	
  nelle	
  tavole	
  astronomiche	
  greche	
  (Almegesto)	
  
	
  
(	
  o	
  =	
  οὐδείς,	
  οὐδεμία,	
  οὐδέν	
  [nessuno,	
  nulla]	
  
“Οὖτις	
  ἐμοί	
  γ᾽	
  ὄνομα”	
  Od.,	
  IX:360-­‐412	
  )	
  

0;	
  31,	
  25	
  

0;	
  47,	
  8	
  



Domande	
  a	
  questo	
  punto?	
  
	
  
	
  
	
  
	
  

(	
  conMnua	
  .	
  .	
  .	
  )	
  



Abaco	
  romano	
  
(Roma	
  -­‐	
  Museo	
  Nazionale	
  Romano	
  di	
  Palazzo	
  Massimo)	
  

Gli	
  abaci:	
  un’eredità	
  	
  della	
  notazione	
  erodiana?	
  	
  



� 	
  � 	
  
� 	
  

	
  	
  C	
  	
  	
  X	
  

700	
  per	
  10	
  

 	
  
 	
  

	
  	
  C	
  	
  	
  X	
  

risultato	
  per	
  6	
  
(di	
  passaggio)	
  

��
��
��
 
	
  

������ 
	
  

700	
  x	
  60	
  =	
  42000	
  

	
  	
  C	
  	
  	
  X	
  

�� 
	
  

� 	
  

��� 
	
  

��� 
	
  

��
	
  �	
  

��� 
	
  





Come	
  “memorizzare”	
  il	
  risultato?	
  

•  Possiamo	
  per	
  un	
  abaco	
  a	
  6	
  colonne	
  come	
  in	
  figura	
  indicare	
  gli	
  “spostamenM	
  
a	
  sinistra”	
  delle	
  palline.	
  

•  Uno	
  spostamento	
  a	
  sinistra	
  equivale	
  ad	
  una	
  molMplicazione	
  per	
  10	
  
	
  
���

  ⑤  ④ ③  ➁ ➀ ❍



  0 4 4 6 4 0   =	
  4	
  ×104	
  +	
  4	
  ×103	
  +	
  6	
  ×102	
  +	
  4	
  ×101	
  +	
  0	
  ×100	
  

Quasi	
  ci	
  siamo:	
  basta	
  accordarsi	
  sui	
  simboli	
  per	
  i	
  numeri	
  interi	
  da	
  uno	
  a	
  nove.	
  
E	
  per	
  lo	
  spazio	
  vuoto:	
  lo	
  prendiamo	
  in	
  presMto	
  dai	
  greci:	
  un	
  “tondino”	
  vuoto.	
  



Come	
  “memorizzare”	
  il	
  risultato?	
  
	
  
Assumiamo	
  una	
  banale	
  codifica	
  alfabeMca:	
  
	
  
1	
  =	
  a 	
  2	
  =	
  b 	
  3	
  =	
  c	
   	
  4	
  =	
  d 	
  5	
  =	
  e	
  
6	
  =	
  f	
   	
  7	
  =	
  g 	
  8	
  =	
  h 	
  9	
  =	
  i	
  

Serve	
  un	
  “promemoria”	
  per	
  il	
  fa[o	
  che	
  la	
  prima	
  e	
  la	
  sesta	
  colonna	
  sono	
  vuote:	
  
Me[eremo	
  ad	
  esempio	
  una	
  Z,	
  e	
  scriveremo	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ZddfdZ	
  
Oppure:	
  	
  
convenendo	
  che	
  il	
  promemoria	
  “si	
  allinea	
  a	
  destra”,	
  solo	
  	
  ddfdZ,	
  ossia	
  44640	
  



Indo-­‐arabici	
  



Brahmagupta	
  
	
  

598	
  -­‐	
  670	
  



Fu	
   Leonardo	
   Fibonacci	
   a	
   far	
   conoscere	
   la	
   numerazione	
  
posizionale	
   indo-­‐arabica	
   in	
   Europa:	
   a[raverso	
   gli	
   arabi	
  
infaa	
  lo	
  zero	
  passa	
   in	
  Europa	
  e	
  Fibonacci,	
  nel	
  suo	
  Liber	
  
abbaci	
  pubblicato	
  nel	
  1202,	
  tradusse	
  il	
  termine	
  arabo	
  per	
  
lo	
  zero	
  	
  	
  
	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  sifr	
  (cifra)	
  in	
  zephirum	
  (inserendo	
  le	
  vocali).	
  	
  
	
  
Si	
  arriva	
  a	
  quindi	
  al	
  veneziano	
  zevero	
  e	
  poi,	
  finalmente	
  a	
  

	
   	
   	
   	
   	
   	
   	
  	
  
	
   	
   	
   	
   	
   	
   	
  zero	
  



Le	
  marquis	
  de	
  Laplace	
  	
  
Exposi'on	
  du	
  système	
  du	
  monde	
  
Paris,	
  1796	
  
	
  	
  
1825:	
  5e	
  éd.	
  /	
  rev.	
  et	
  augm.	
  par	
  l'auteur.	
  	
  
p.	
  323	
  



a	
  =	
  b	
  +	
  h	
  m	
  
c	
  =	
  d	
  +	
  k	
  m	
  

a	
  +	
  c	
  =	
  b	
  +	
  d	
  +	
  (h	
  +	
  k)	
  m	
  
a - c	
  =	
  b	
  -	
  d	
  +	
  (h	
  - k)	
  m	
  
a	
  c	
  =	
  b	
  d	
  +	
  d	
  h	
  m	
  +	
  b	
  k	
  m	
  +	
  h	
  k	
  m2	
  

Cioè:	
  se	
  a,	
  b,	
  c,	
  d	
  sono	
  interi	
  ed	
  m	
  è	
  un	
  intero	
  posiMvo,	
  allora	
  

Se	
  n	
  è	
  un	
  intero	
  posiMvo	
  

10	
  =	
  9	
  +	
  1	
  

La	
  prova	
  del	
  9	
  



aj10
j ! aj "1= aj

N = aj10
j

j=0

n

!

N ! aj (mod9)
j=0

n

"

1356354	
  ×	
  6869329	
  =	
  9317241866466	
  
27  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  43	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  63	
  
27	
  ×	
  43	
  -­‐	
  63	
  =	
  122	
  ×	
  9	
  	
  



Simon	
  Stevin	
  
1585	
  (La	
  Thiende,	
  in	
  fiammingo)	
  

⑤ ④ ③ ➁ ➀ 	
  

Colonne	
  intere	
  	
  
dell’abaco	
  

C	
  	
  	
  X	
  	
  	
  I	
  

32.57	
  ×	
  89.46	
  =	
  2913.71	
  	
  

Il	
  numero	
  32.57	
  viene	
  rappresentato	
  
a	
  stampa	
  “allineando”	
  la	
  parte	
  intera	
  
e	
  segnando	
  solo	
  “i	
  posM	
  a	
  destra	
  della	
  
virgola”	
   con	
   una	
   numerazione	
   in	
  
cerchiea.	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  





h[p://solarscience.msfc.nasa.gov/greenwch/spot_num.txt	
  

…………………………….	
  



Legge	
  di	
  Benford	
  o	
  Legge	
  della	
  Prima	
  Cifra	
  	
  

In	
  un	
  “grande”	
  dataset	
  di	
  daM	
  del	
  mondo	
  reale,	
  scria	
  in	
  forma	
  decimale,	
  la	
  probabilità	
  
(frequanza	
  relaMva)	
  che	
  la	
  prima	
  cifra	
  decimale	
  significaMva	
  sia	
  uguale	
  a	
  k	
  è	
  	
  
approssimaMvamente:	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  log10	
  (1	
  +	
  1/k)	
  
	
  
Esempio:	
  numero	
  di	
  macchie	
  solari	
  osservate	
  mensilmente	
  dal	
  gen.	
  1749	
  al	
  lug.	
  2012	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  (fonte:	
  NASA)	
  

0.05
0.10
0.15
0.20
0.25
0.30

Macchie solari
Legge di Benford

Freq.	
  rel.	
  oss.	
  &	
  prob.	
  teorica	
  

1	
  	
  	
  	
  	
  	
  2	
  	
  	
  	
  	
  3	
  	
  	
  	
  	
  4	
  	
  	
  	
  	
  5	
  	
  	
  	
  	
  6	
  	
  	
  	
  	
  7	
  	
  	
  	
  	
  8	
  	
  	
  	
  	
  9	
  	
  	
  	
  	
  	
  	
  	
  prima	
  cifra	
  significaMva	
  





¢	
  

¢	
  
1a	
  

2a	
  

A	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  r	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  B	
  



“L”	
  

“R”	
  

a	
  =	
  d	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  t	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  x	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  b	
  =	
  d+1	
  

L	
  



a	
  =	
  d	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  t	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  x	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  b	
  =	
  d+1	
  

L	
  

d	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  a	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  x	
  	
  	
  	
  	
  	
  	
  	
  t	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  b	
  	
  

R	
  

d	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  a	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  x	
  	
  	
  	
  	
  	
  	
  	
  b	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  d+1	
  	
  

L	
  

x	
  =	
  d	
  .	
  L	
  R	
  L	
  …	
  =	
  	
  	
  d + 1
2+ 1

8 +... = d + 1
2 +

0
4 +

1
8 +... = d.101...



“L”	
  

“R”	
  

a	
  =	
  d	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  t	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  x	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  b	
  =	
  d+1	
  

L	
  



>	
  test	
  <-­‐	
  funcMon(q){q	
  <	
  1/2}	
  	
  
>	
  #	
  A	
  non	
  ha	
  massimo	
  
>	
  N	
  <-­‐	
  30	
  
>	
  d	
  <-­‐	
  0	
  	
  
>	
  a	
  <-­‐	
  d	
  
>	
  b	
  <-­‐	
  d+1	
  	
  
>	
  s	
  <-­‐	
  c()	
  
>	
  for	
  (j	
  in	
  (1:N)){	
  	
  
+	
   	
  t	
  <-­‐	
  (a+b)/2;	
  
+	
   	
  if	
  (test(t))	
  {a	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,"L")}	
  
+	
   	
  else	
  {b	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,"R")}	
  
+	
   	
  }	
  
x	
  =	
  0	
  .	
  RLLLLLLLLLLLLLLLLLLLLLLLLLLLLL	
  ...	
  

X	
  =	
  1/2	
  

>	
  test	
  <-­‐	
  funcMon(q){q	
  ≤	
  1/2}	
  	
  
>	
  #	
  B	
  non	
  ha	
  minimo	
  
>	
  N	
  <-­‐	
  30	
  
>	
  d	
  <-­‐	
  0	
  	
  
>	
  a	
  <-­‐	
  d	
  
>	
  b	
  <-­‐	
  d+1	
  	
  
>	
  s	
  <-­‐	
  c()	
  
>	
  for	
  (j	
  in	
  (1:N)){	
  	
  
+	
   	
  t	
  <-­‐	
  (a+b)/2;	
  
+	
   	
  if	
  (test(t))	
  {a	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,"L")}	
  
+	
   	
  else	
  {b	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,"R")}	
  
+	
   	
  }	
  
x	
  =	
  0	
  .LRRRRRRRRRRRRRRRRRRRRRRRRRRRRR	
  ...	
  



>	
  test	
  <-­‐	
  funcMon(q){q	
  <	
  3/5}	
  #	
  A	
  non	
  ha	
  massimo	
  
>	
  N	
  <-­‐	
  30	
  
>	
  d	
  <-­‐	
  0	
  	
  
>	
  a	
  <-­‐	
  d	
  
>	
  b	
  <-­‐	
  d+1	
  	
  
>	
  s	
  <-­‐	
  c()	
  
>	
  for	
  (j	
  in	
  (1:N)){	
  	
  
+	
   	
  t	
  <-­‐	
  (a+b)/2;	
  
+	
   	
  if	
  (test(t))	
  {a	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,"L")}	
  
+	
   	
  else	
  {b	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,"R")}	
  
+	
   	
  }	
  
x	
  =	
  0	
  .	
  LRRLLRRLLRRLLRRLLRRLLRRLLRRLLR	
  ...	
  

X	
  =	
  3/5	
  



>	
  test	
  <-­‐	
  funcMon(q){(2*q	
  -­‐	
  1)^2	
  <	
  5}	
  #	
  A	
  non	
  ha	
  massimo	
  
>	
  N	
  <-­‐	
  30	
  
>	
  d	
  <-­‐	
  1	
  	
  
>	
  a	
  <-­‐	
  d	
  
>	
  b	
  <-­‐	
  d+1	
  	
  
>	
  s	
  <-­‐	
  c()	
  
>	
  for	
  (j	
  in	
  (1:N)){	
  	
  
+	
   	
  t	
  <-­‐	
  (a+b)/2;	
  
+	
   	
  if	
  (test(t))	
  {a	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,"L")}	
  
+	
   	
  else	
  {b	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,"R")}	
  
+	
   	
  }	
  
x	
  =	
  1	
  .	
  LRRLLLLRRRLLRLLLRLLLLRRLLRLLLR	
  ...	
  



>	
  test	
  <-­‐	
  funcMon(q){q	
  <	
  1/16}	
  	
  
>	
  N	
  <-­‐	
  30	
  
>	
  d	
  <-­‐	
  0	
  	
  
>	
  a	
  <-­‐	
  d	
  
>	
  b	
  <-­‐	
  d+1	
  	
  
>	
  s	
  <-­‐	
  c()	
  
>	
  for	
  (j	
  in	
  (1:N)){	
  	
  
+	
   	
  t	
  <-­‐	
  (a+b)/2;	
  
+	
   	
  if	
  (test(t))	
  {a	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,1)}	
  
+	
   	
  else	
  {b	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,0)}	
  
+	
   	
  }	
  
>	
  print(paste("x	
  =",d,".",paste	
  	
  	
  
	
  	
  	
  (s,collapse=""),"..."),quote=FALSE)	
  
	
  

>	
  test	
  <-­‐	
  funcMon(q){q	
  ≤	
  1/16}	
  	
  
>	
  N	
  <-­‐	
  30	
  
>	
  d	
  <-­‐	
  0	
  	
  
>	
  a	
  <-­‐	
  d	
  
>	
  b	
  <-­‐	
  d+1	
  	
  
>	
  s	
  <-­‐	
  c()	
  
>	
  for	
  (j	
  in	
  (1:N)){	
  	
  
+	
   	
  t	
  <-­‐	
  (a+b)/2;	
  
+	
   	
  if	
  (test(t))	
  {a	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,1)}	
  
+	
   	
  else	
  {b	
  <-­‐	
  t;	
  s	
  <-­‐	
  c(s,0)}	
  
+	
   	
  }	
  
>	
  print(paste("x	
  =",d,".",paste	
  
	
  	
  	
  (s,collapse=""),"..."),quote=FALSE)	
  

x	
  =	
  0	
  .	
  000011111111111111111111111111	
  …	
  
	
  
x	
  =	
  0	
  .	
  000100000000000000000000000000	
  …	
  

X	
  =	
  1/16	
  




